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Example 1:
e Rebudgeting $2,00@ OPS -Salary from Tuition for an award witf51% F&A MTDC.

e Step 1: Calculate the amountfe&A that will be increased
o $2,000 x .51= $1,020n F&A
(Note: 51% = .51)
o Total transfer from Tuition would be $2,000 + $1,326$3,020

e Step 2: Enter budget amendment:
o0 Decreasé Credit (-) Tuition by a total 0f63,020
o0 Increase Debit (+) OPS Salary by 8,000
0 Increase / Deb(+) F&A by $1,020

Example 2:
e Rebudgetng atotal of $2,000 from Tuitionto OPS Salaryfor an awardvith 51% F&A MTDC.

e Step 1: Calculate whatgportion of the total will béransferred to OPS Salary
o $2,000 divided by 1.51 = $1,324.50att msts

e Step 2: Calculate whatgportion of the amount will benldirect @sts.
o $2,000 — $1,324.58 $75.50 ndirectcosts

e Step 3: Enter budget amendment:
o Decrease / Credit) Tuition by a total of $2,000
0 Increase / Debit (+) OPSSalary by $1,324.50
0 Increase / Debit (+)idirect Costdy $675.50

From F&A to Non-F&A Budget Line

Whenre-budgeing from abudget linethatis subject to F&Asuch as other direct costs or Trateh budget line
that_is notsubject to F&A such as equipment or tuititimere will be alecreasen the F&A amount

Example:
Re-budgeting $5,000 from Other Direct Costs to Equipmefdr an award with 5% F&A MTDC.

Step 1: Calculate what@uortion of the amount would be transferred from Other Direct Costs
o $5,000 divided by 1.51 = $3,311.28att csts

Step 2: Calculate what proportion of the amount will be F&A
o $5,000 — $3,311.26 = $1,694 F&A

Step 3 Enterbudget amendment
0 Decrease / Credit) Other Direct Costby 3,311.26
o Decrease / Credit\ F&A by $1,688.74
0 Increase / Debit (+) Equipment b$,$00




